Definition of Derivative Review October 11, 2023

Today's Plan:

Learning Target (standard): | will find use the definition of derivative to
calculate a rate of change. | will explain the definition of derivative in terms
of tangent lines and velocity.

Students will. Complete practice problems over previous concepts at the
boards, put up homework problems on the board and make neccessary
corrections to their own work, take notes over new material and complete
practice problems over new concepts.

Teacher will. Provide practice problems over previous concepts, check
homework problems for accuarcy and provide students feedback, describe
and provide examples of new concepts and assign students assessment
problems over new concepts.

Assessment. Board work, homework check and homework assignment

Differentiation: Students will work at the board, go over and correct
homework at their seats, actively engage in lecture over new concepts,
practice new concepts with the aid of other students and the teacher and
complete homework assignment.

Definition of Derivative Worksheet
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Find the derivative and state 2 interpretations:
f(x)=3x"+2
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f(x)=2x"—4x+1
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Discuss the continuity.

=222
& -

D523 Tx — '
mf'?; .-#)% Ty rd) [\
ciper i
- S % L
Xor “_-. Iﬁ'ﬂj % xl.\m- = =
"i'\"—r{ =0
9 HA=0  inkrsceds?
; o
=0 0% DN
VA  X=2
Jim £6)=-n
¥a2'
lim ()=
a2t
GX\‘“'\UI\‘H"
gfb:{x\ x$2.2%
2)continuoos on (- =2)y (2,2 (?-.V’)

3 remitablt distonking iy @ X=-2
infinide/2sntio) diaol\'}inu'.ﬁ@ X=2

¥) 0. fe2)eund 0.£@)=und
b-fim f=-} L ){.-.2_#0():—»
o ek SimfRzy 0 ‘
O I AT TR

[ c(-zyﬂ-:._ 0 °-+m4;{.ya)

2 St furckion is - Sina it Betlion i
undaind @ the xvalut of -2 ;"ﬂgﬁg tlu:::jl
?q;m W od it 0007
iMiYS 63 X approachus -2 art gheriigaightoed
both a4 4 4 fincion h%:liibnm-;m ,
boo Aot distonkinury okt ol
@t w2 discotinrby @ ke
of 2.

October 11, 2023



Definition of Derivative Review October 11, 2023

Assignment: #1-5, find f* (x).
D) f(x)=T7x-3x" +2x+1 4)f(x):(x+2)(2x—3)

mtan(1,7) = mtan(l,—3) =
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3)f(x) =4J/x -1 6) Discuss the continuity:
Mianary = x2-2x-3
v(l) = fx)=1 x-3 ,x<4
4—x,x>4

7)
If an object is thrown upwards with an initial velocity of 48 ft/sec, then its
distance above the ground at t seconds is given by f(f) =48t —-16¢* .

Find the velocity when t =1, t = 2. When does it reach its maximum
height? Its minimum height?

Assignment:
Df@)=7¢-3x"+2x+1  4)f(x)=(x+2)(2x-3)
mm(1_,7)1; M1 3y = 5
v(l) = v(-1)=-3
2 p—
2 f(x) =2~ 2x+3 5)f ()= X 13x 4
X x+4
Mgy gy =3 Moty =1
v(2)=-%, v(2)=1
3/ (x) = 4% -1 6) Discuss thze continuity:
Mign(a7) =1 X o3
(1) =2 S@=y x5 w<d
4—x,x>4
()= 2
f(x)_\/; ‘I?:r:‘n;\;fible:tx:iE

7)If an object is thrown upwards with an initial velocity of 48 ft/sec, then its
distance above the ground at t seconds is given by f(¢)=48t—16¢> .
Find the velocity when t = 1, t = 2. When does it reach its maximum
height? Its minimum height?
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v(a)=48- 323; max height at ¥/, seconds

W1)=16 S min height at 3 seconds
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